XYZ,,=108.04 , 100.0 , 39.55 Y

2

8, =3[ (x=X) /)
bz bylz/y
=1, b,y =04

X, = 0,110, B, = 2,500
Crg=[AF+BA

6 OstwaldFarben (o)
von maximalem (m)C,
linearen Farbenraum (C,,

Lichtart P30, Y, =100 V
Name Bereich X, v z, 0

Ry 576 775 79% 450 150 Do2sE0 askoats w50 50

V) 503775 102296.07 408 05051 0.4746 580 473

G, 503578 27.28 55.17 4.04 03154 0.6378 546 5d6c

C, 380578 33.08 59.1 39.51 02512 0.4487 498 604 Parameter:

B, 3805031022 802 37.00 01847 0.145 473 580 Y & Name

M, 578_503 85.18 48.92 37.13 04974 0.2857 546c546 f

a0 are toacana. sses.ociees 0dss. 100 Lichtart P30
N, 380775432 40 158 04363 0.4038 4% Y,,~100 Y,=4

7,380 7751944 180 711 0.4363 0.4038 18%
BGF10-7A




